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Max Marks 75"
Answer any Five Questions
All Questions Carry Equal Marks

What -is-the need far~ forecastmg preductlon management‘? Wh}( can’tx they preduce., A
ased on-just the,onders recewed?zm., Lo L,....f\ : A= L_.}\ :,5_';",,,‘

/What"is-the kindl of‘rélation and coordmatlcn requnred betwcen Productlon Planriing and-* /

Control (or PPC In-charge) and the Marketing Department? [7+8]

Should one always go by just a single approach for forecasting the production quantity?

Justify your answer giving logical reason for it.

Eg{plam...,the kind of mventory ltelps for.yhich VED analysis can usefully be emp}oyed A

Name the, establlshr_nents where thlS analysxs is mogtw hppropnate f ‘3 ; [8+7] i‘;

Yy ; Y -"} ,' \ f N .i ‘g‘ "A , b _;"

A certain company requires 10,000 Umts of component annually. The ordering cost is
Rs.10 per order. Carrying cost is 25% of inventory value per annum Each unit of the
component costs Rs.20. The supplier offers 2% discount if purchases are made in lots of
5000. Is the discount offer attractive? If not for what reduced quantity can company, ask
for the same 2% dlscount‘7 N ) [15]

._,-’ .."s ., :__, ..... - {-.\ .;'... j \ [[ 1 _‘ /,\ S . A
Knxasserrxbly lmE‘c’enslsts of f'our'"\'.vorkstatxons .Each workstatlop "p“egforms a deslgnated /
work for which the work contents (tlme requ1red per piece) are as under: ' '

Station | Work contents in minutes
1 4
— 2 2. 1 . .
AT N AR B N B
a) What is the cycle time?
b) Calculate delay for each station,
¢) Calculate line efficiency.
d) How many units will be made in a day of 8 hours work which includes a total of one
hour break for both lunch and tea. o o, PR [15] . A
/ NENEYAY A \ {2 / AN \ S
that are-the coritents of. rnute sheet" ‘What’purpose ddes-itsbrve? , / X / \ M 2
For which type of production process, line balancing is suitable? Explain. [8+7]
A A . A A . A A
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6. Given below are 5 jobs to be scheduled with the processing time and delivery schedule in
days.
’ Job | Processing time | Delivery schedule ‘
ACEIYAYE VAT ES MY
/T B-.J49 FN e A /

C |16
D 11
E |13

Using.-the scheduling .rule of ‘First come first served’-and “Shopfest processing time’;
catcu]ate separatc;b[ the total ﬂow ume and shppagﬁ m dehvery for ea(}h of the _]ObS {15]

i

How does it differ from

For which type of production process the economic batch quantity (EBQ) approach is
appropriate? What are the various costs that influence EBQ?

What do you undcrstand by the term loading the shop‘?
scheduling?

[7+8]

pductton is pIanned‘7 -y
roduction plannmg and control? : 8+7]
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